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&) Where s £(x) '\Mrmsiv\f.
£'(x) is positwe,
A(‘OO’ -2) U( f 5)
V) Where s Lix) dc.cuqs'ms?
£ ) i negative
(-2, ) v (5, )




. C) Where s fix) Concave u.p?
‘ FU0x) 6 posivie - Slepe. of Fangent line.
b £x) i positie
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We nud to wmayimize Volume.

Vl w h
= (29-2x)(1b- 2)(X)
diskances are 20 .. .
‘-QZO w2an h2o
Z"\"z\ZO ""2&20 xzo
24 z2x o 2 2x
22 X 82X
So xe(o,8]

hext Sip... take the denvahi !
ek v(x)= (24- 20 Y1 - 2x)(x)

=384 - gox +4x?)(x)
= 3% % - gox* 44>




aen V'(X)= 384 -lbo g +12%°

= 12x*-lhox + 3g4
=H(3x*-yox +9¢)

VI(¥)=0 when 3x‘-"0x+% =0

o x= o Vuo>4(3)(qy)

2(3)
K= Yo+ Vg
b
X=lo 2 @V _ 20*U\{q
e 3
0.1 "‘ and 3./39
2o+4~r‘

IS not mfu\m( (0 8]




Hwa,\... USe EVT!
V(o)= (H (0 = 0
-V 20"3“""7) = (H(+)(4) = + .&M‘

V(8)= (o)) = 0

Max volume occurs when

" 23:35'-‘58[3.34 n=h]

e )
ond W= lb-2x x



